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Note: There are three sections of this paper, A, B, & C. Carefully read the instructions for each section

and attempt accordingly.
Time Allowed : 20 Mins, SECTION-A
Note; Use this sheet for this section. No. mark will be awarded for cutting, erasing or over
Q.1 Insert the correct option (a, b, ¢, d) in the empty box opposite to each part. Eac

i) The mathematical form of the probability distribution of the normala

kind of Mark Left / Written is strictly prohibited. Mobile Phone is strictly proh _ nation

Total Marks : 15

it carries one mark. Any

(@) M b o ) panda ahe of these
i) The probability distribution of the sample mean is called ]
(a) Samplingemor (b) Standardemor (c) (?&Tigm%n of e (d)  Noneof these
iy The expected value of random variable xs
(@) Standarderror () 1ne SAMPIE Qe ,,T:j;‘.ﬁf e (4)  Noneof these
iv) A hypothesis that does not completely specify lues of population parameters is
refened'to as ; )
@ yooess  © (€ Gomheste (@) Nullhypothesis
V)  Levelofsignificance refers to ||
(2) gr:gla‘mr"f (bf? yorihe ¢y Powerofthe ) Nong ofthese
vi)  Avariable about whigh"redictionien€stimates are made is called the B
O los bzt Discreto variable ()  I9PENCRNt () None of hese
vii)  Whatkind of relati sif Y decreases as X increase [ ]
Direct (¢) Norelationship (d) - None of these
_ vii) an two categorical variables is called =
: 0, Regression (c)  Association (d)  Noneof these
i) Fordx4 contingency table the degree of freedom for the Pearson's X test is |
(a) (b) 4 {c) 6 (d 12
%) u—S8tou+3& Contains approximately ............ area l:‘
(8) 50% (b) 5% () 68% @ 997%
xi)  Given the numbers 2,6,1,5 a moving average of order 3 is given as [
(a) (35 () (45) © (4 (d)  Noneofthese
xi)  The smooth and regular movements is called [==3]
I Cyclical
{a) Seculartrend  (b) - :;rg\?:n?gm (c) m¥>vc'am St (d)  Noneof these
xiil)  The odd order moments about mean for a normal distt are all [
(a) One (b) Zero (c) Two (d)  Noneof these
xiv)  Which one is input devices? (]
= (a) Keyboard (b) Floppydisk () Magnetictape (d) Allofthese
xV)  One GBis equal to - =]
(@) 1000MB (6) 1000KB () 1024MB (d) 1024KB
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i Paper—1
Time Allowed : 2:40 Hrs. Section-B Marks : 36

Note : Mobile Phone is sfrictly banned in Examination Hall.

Q.2 Write a short answer of any NINE of the following parts. Each part carries equal marks.
(i) Rang the given data 23,36, 24, 25, 33, 36, 40, 25, 27, 19, 25, 33.
(i) Convert the following into the required bases

@ (MNw=(?) (b)  (367)0=(7)s
(i) Explain sample and population.
(iv)  Whatis meant by sampling distribution of sample mean?
(v) Define Null and Alternative Hypothesis.
(vi)  Define one tailed and two tailed tests.
(vi)  Define level of significance and level of confidence.
(viii) ~ Whatis meant by leas! square Method.
(ix)  Whatis scattered diagram?
(x)  Whatis categorical data,
(xi}  Whatis two way classification.
(xil)  Write the components of time series.

Section-C Marks : 24
NOTE: Attempt any three questions. Each question carries equal marks.

Q.3  Calculate three years average for the following time §gries. ¢
Year | 1990 | 1991 | 1992 | 1993 | 1994 | 1995 [%4996,| 1997 | 1998 | 1999 | 2000
Vales| 90 | 95 | 99 | 98 9% | 99 | 113 | 114 | 126 128

Q.4  Determine the coeficient of mm@%wﬁng.
> 9

X | 12| 2 ) 2 8 4 10

Y, 4 10 ‘ 5 8 3 8 2
o
Q.5 ats is found to have a mean height of 171.38 cm, Can it responsibly be
: S frém a large population with mean height 171.17 cm and S.D 3.30 cm.
Q.6 i ists of three housing unit, were the value of X the number of rooms for rent in

and find their means. Construct the sampling distribution of sample mean and verity that

E(X)= pand s. =-j—;
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Nota '/ Attamit v twa al
Note : Attempt any two q
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